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Problem 1: impedance mismatch
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Solution: unification
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Problem 2: input
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* 1/3 of the code in Adobe’s desktop
applications is devoted to event handling logic

* 1/2 of the bugs reported during a product
cycle exist in this code
— Sean Parent, Adobe Software Technology Lab 2006

http://stlab.adobe.com/wiki/images/0/0c/Possible_future.pdf






Solution: coherent events
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Output:
read-driven functional trees

snapshot \ transform . read

model view



Input:
write-driven coherent events
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Input:
write-driven coherent events

commit write
<€

write-
only

read-
only



Static effects

RW



functional trees

4

PR AT AT AT AN AT AT ATAY
SNV VOV NV NN
coherent events



so what?






